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{

y′ + y = sin t

y(0) = a�¤�¬� � üÜ �Æ ÷�Â Ô þ¢ �b ó¢� ã õ � þ� .´¨� Â Ô¬ Ûõ�ª �î Àª� � ý�ù¥� � I ⊆ R À� � î ­Âê .2 ñ��b ¨�î üðÄþø ßþ� �� ¢¤�¢ ¢��ø À�µÆû I ¤¢ �µ¨��� üã���� a2 ø a1 ö� ¤¢ �î y′′ + a1(t) y′ + a2(t) y = 0?�Â� ?À�ª�� ö� ý�Â� ���� ø¢ y2(t) = t5 ø y1(t) = t7.Àþ¤ø� ´¨¢�� t = 0 �bÎÖ÷ ñ�� �¤ Âþ¥ �b �óøa� ¤�ÀÖõ �b ó�bÆõ �b ÷�Úþ ���� ¤�Ü�� ÍÆ� .3 ñ��b¨
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y′′ − t y = 0
y(0) = 1
y′(0) = 0.Àþ¤ø� ´¨¢�� �¤ Âþ¥ �b �óøa� ¤�ÀÖõ �b ó�bÆõ �b ÷�Úþ ���� ,§��� ��þÀ±� ¥� ù¢�Ôµ¨� �� .4 ñ��b¨
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y′′ − 2 y′ + 5 y = 2δ(t − 3)

y(0) = 0
y′(0) = 1.ÀþÂ�Ú� ÂÑ÷ ¤¢ �¤ Âþ¥ ß
 ÚÞû�÷ ü
 Î¡ Û
 �Æ÷�ÂÔþ¢ ��¢�ãõ ù�Úµ¨¢ .5 ñ��b¨
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x′ = 2x

y′ = −x + 2y + e2t

z′ = y + 2zý¤�¢Â� â��� ø A ÅþÂ��õ ö� ¤¢ �î X ′ = AX + f(t) �¤�¬�� ü�ãþ ,üÆþÂ��õ ÛØª �� �¤ ù�Úµ¨¢ (Óó�.À��î üÆþ�÷¥�� ,À��îüõÉ¿Èõ �¤ f(t)©ø¤ ¥� ù¢�Ôµ¨� �� �¤ ,X ′ = AX ù
�Úµ¨¢ ü�ãþ ,ÂÒ��µõ ß
 ÚÞû ù
�Úµ¨¢ ý�Â� üÎ¡ ÛÖµÆõ ���� �¨ (�.Àþ¤ø� ´¨¢�� ùÄþø ¤�¢Â� - ùÄþø ¤�ÀÖõ



.À�Æþ��� ,X ′ = AX ü�ãþ ,ÂÒ��µõ ß
 ÚÞû ù
�Úµ¨¢ ý�Â� ���� ü¨�¨� Å
 þÂ��õ ×þ (�.À��î �±¨�½õ �¤ eAt (¢,x(0) = 0 Íþ�Âª ¤¢ �î �¤ ùÀª ù¢�¢ ß
 ÚÞû�÷ ù
�Úµ¨¢ �b ÷�Úþ ���� ,�ûÂµõ�¤�� Â��ç� ©ø¤ ¥� ù¢�Ôµ¨� �� (û.Àþ¤ø� ´¨¢�� À�îüõ ëÀ¬ z(0) = 1 ø y(0) = 0.ÀþÂ�Ú� ÂÑ÷ ¤¢ �¤ Âþ¥ ü
 Î¡Â�è Û
 �Æ÷�ÂÔþ¢ ��¢�ãõ ù�Úµ¨¢ .6 ñ��b¨
{

x′ = −2x + 2x2
y′ = −3x + y + 3x2.Àþ¤ø� ´¨¢�� �¤ ù�Úµ¨¢ ü÷�Â½� ¯�Ö÷ (Óó�¥�ê ý�Þ÷ ø À��î ü¨¤Â� ,ý¤�Àþ���÷ �þ ü±÷�¹õ ý¤�Àþ�� ,ý¤�Àþ�� ÂÑ÷ ¥� ,�¤ ü÷�Â½� �b ÎÖ÷ Âû ´�ã®ø (�.À��î Ý¨¤ ü÷�Â½� �bÎÖ÷ Âû üÚþ�ÆÞû ¤¢ �¤ ù�Úµ¨¢,ùÂÞ÷ 45=10+10+5+15+5 :5 ñ��b ¨ ,ùÂÞ÷ 10 ��Àî Âû :4 ø 3 ,2 ,1 ý�ûñ��b ¨ .ùÂÞ÷ âþ¥��.ùÂÞ÷ 15=10+5 :6 ñ��b¨ùÂÞ÷ 100 :á�Þ¹õ


